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Prob.4  Please illustrate the physical meanings (basic analogies) of the two equations

(7 S% ) [exergy transfer il _ 2‘(1 B _]_'_0'] 50

accompanying heat Ty

exergy transfer
and

|0
accompanying work

for the exergy analysis, where @ is the amount of energy by heat interaction

across the system’s boundary and ¥ is the volume of the system.

Prob.5  Please use P-V diagram and/or T-S diagram to explain and identify the
( '54) processes in (1) Ideal Rankine Cycle, (2) Ideal Air Standard Diesel Cycle, and
(3) Ideal Air Standard Brayton Cycle.

Prob. 6  On the basis of a cold air-standard analysis, show that the thermal efficiency

(2"/‘: ) ofanideal regenerative gas turbine can be expressed as
1e1-(Epr
I

where y ‘is the compressor pressure ratio, and 7, and 7, denote the

temperatures at the compressor and turbine inlets, respectively.




